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Name:  ____________________________

Date:  ____________________________

Signature:  ____________________________

Test:  (2020) Primary 5 Maths (Term 1) - Nanyang

Points:  13 points

Score: ____________

Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 13

Jar A has 970 marbles in it. Jar B has 20 times as many marbles as Jar A. How many
marbles are there in Jar B?

A) 1 940

B) 18 400

C) 19 400

D) 20 400

Question 2 of 13

Find the value of 4+6 x (501-51)

A) 2 704

B) 2959

C) 4 500

D) 4 959
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Question 3 of 13

A)

B)

C)

D)

Question 4 of 13

A)

B)

C)

D) 6 h
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Question 5 of 13

A) 5

B) 7

C) 8

D) 9

Question 6 of 13

Write eight hundred and eighty thousand, two hundred and ninety-two in numerals 

Question 7 of 13

Express 35÷6 as a mixed number in its simplest form

Question 8 of 13
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Question 9 of 13

The product of two numbers is 20 700. One of the numbers is 60. Find the other number 

Question 10 of 13

Muthu bought a laptop. He paid $390 first and a monthly amount of $300 for 12 months.
How much did the laptop cost?

Question 11 of 13

Question 12 of 13

Question 13 of 13

A game booth has 3 point, 5 point and 10 point targets. Bobby hit 12 targets and scored 62
points altogether. How many 3 points targets did he hit?


